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Quiz 8

1. Suppose a wind turbine has a cut-in wind speed of 5
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c. (2.5 pts) For how many hours per yeasr will the turbine be shut down because winds are too low?
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d. (2.5 pts) If this is a 1-MW turbine, how much energy (kWh/yr) would be produced for winds blowing at or

above the rated wind speed of 12 m/s?
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2. Consider the following probability density function for wind

speed: kp-mrmmmmcmm e 5 25
a. (2.5 pts) What is the appropriate value for k for this to be a £(v) 2
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b. (2.5 pts) What is the average power in these winds(W/m?) under standard temperature and pressure
conditions (i.e. p = 1.225 kg/m3 )?
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